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Suppose a bacterial culture initially ga S5 OIS LS Balisa of ag o

has 100 cells. After 2 hours, the el (pie b S aald 100 Lo )
@FrOntline StUdentS population has increased to 400. 2 28 2 2,400 Y il 8l e
- Find the population after 6 hours. el 6
y(6) = 400e°'? )
y(6) = 100e'"2 o
y(6) = 400e*!"2 0
y(6) = 100e®'72 o)
d.
lalaill dsleall J>
Find the solution of the differential sy y' = 3y dalalil) Allaall Sa a4l
equation y' = 3y satisfying the Y(0) = =2 AuN Byl

initial condition y(0) = —2.

y = -2 o
y =3e** o)
b.
1
— © 4 o)
y Ze
y =2e%* o)
d.
x-1 _ A B . x-1 — A B i
(x+1)(x-2) - (x+1) + (x-2) (x+1)(x-2) (x+1) + (x=2) s L
N x—1 x-1 - =
_— ¢ ) —— L
what is the value of | TG dx? f(x+1)(x—2) dx iad
Elnlx+1|—§ln|x—2|+c o
%ln|x+ 1|+§ln{x—2|+C o
g g
1 2
sInx + 1] =ZInjx - 2| +C o

;ln]x+ 1|+%ln|x—2|+C (e}



it Jlgy Jals

. 1 x 1 x o
Evaluate the integral f" mdx. . f" mdx Jalsil) dad aagl
@Frontline_Students
n
2 — cos (E) (o)
—2 + 2sin (g) o
b.
w
2 + cos (E) o
o
d 2 — 2sin (5) o
gitiall gl Jolsi
Determine a if SIS 1Y @ dad syl
1 1
ftan xsec®xdx :§sec3x+ C. ftanxsec“ xdx = §sec3x+ C.
L (o]
. 2
4 o
3
b.
2 o
3 (o]
d
el Joisill
Evaluate the integral j'o' 2xcosxdx. . f: 2xcos x dx JalSi dad sa
(2xsinx — 2 cosx)|; o)
2xsinx—f0"25inxdx (o]
b.
(2sinx + 2xcosx)|g O

2xsinx [§- [, 2sinxdx (o]



Lallleglll Jlgall yaugeilly Jalsil

Inx Inx - -
@Frontline Students Evaluate the integral dex . dex Jalsall dad aagl
Inx?
il ©
2
(29 e o
b. x
1 >
E(ln x)?+C o
1 1
i o ey o
d 7x Inx i +C
wasgailly Jalsill
Evaluate the integral [ xvx — 3dx. f xVx = 3dx Jasil dasd 2l
3
2(x—-3)2+C O
;(s\'2 - 3x)% +C o
b.
5 3
(x=3)Z+x-3)z2+C (0]

2 5 3
s(r=3)z+2(x-3)2+C o



3
Evaluate the integral fe—(); dx.

3 - " = ¢
-f;;dx Jalsill dad aa gl

@Frontline_Students



5

X xS )
. ; 1S3 Aasd angl
l+x6dx I 1+x6 dx‘l‘ - .-’

Evaluate the integral [

@Frontline_Students

x>

14 x6 6

In

1
-§In|1 +x°| 4+ C

1
“ Inj1+x%5+cC

1
Ex"lnlxl +C



Evaluate the integral [ m.sin(mx) dx JalSil) dad sa g

[ m.sin(mx) dx, -
where m=+ 0.

@Frontline_Students

—cos(mx) + C
cos(mx) + C
—sin(mx) + C

1
;cos(mx) +:€



Suppose that a car engine exerts a Bg Jdw Bl djae o) s o

force of 800x(1 — x) pounds when @ Bl 038 Laxie Jh) 800x(1 — x)
the car is at position x miles, Judll caa) L0 € x < 1 (Jaa x padgall
0 < x < 1. Compute the work done. +J gal)

400
W = —— mile.lb
3. 3
800
W= T mllelb

W = 400 mile.lb

W = 200 mile.lb

@Frontline_Students



Identify the initial conditions y(0) and
object, if the object is released from
a height of 60 ft with an upward
velocity of 10 ft/s.

Take the origin to be on the ground.

¥(0) = 10,y'(0) = 0
¥(0) = 60,y'(0) = 10
¥(0) = 10,y'(0) = 60
¥(0) = 60,y'(0) = 10

Identify the integral used to
determine the surface area of the
surface of revolution for the shape
described by y = sinx. 0 < x < m,
revolved about the x-axis.

L
S:Zn[ sinxy1 + cos? xdx
o
"
S:ij sin? Vi T canxdx
. o
"
s [ cosx V1t sint xdx
0

L3
s:,f cos* xv/1 + sinxdx
o

A5al y'(0) 5 ¥(0) A0SH Nad s
G et 1 3 1) e el 2
10 /5 ligmas Agaie demm 60 ft 15
Al o g Sy Sl A i

e dalas 3yl pisad JulS) 222
Sy = SINX sk DS g3 gl
X pdip0sxsw

@Frontline_Students



Find the mean of the random B D3 Jiplad jiiad lagia 22

variable with the probability density + )
L] Bl e fx) = F g (pdf) Ay
M. PR 1) = T 10.1]
interval [0, 1].
@Frontline_Students
3Il|2
w
1
EIn3
n
Ean



Find the arc length of the portion of Aaiall e gal e Jsk gl
the curve y = x?, -1 <x < 1. —1<x<1, y=x3

@Frontline_Students

1
S=1tf V1+9xtdx
=1

3.

1
s :J’ J1+ (x3)2dx
: -1

b

1
S—f V14 9xtdx
& =

1
S=TIJ’ v1+3xtdx
; =2

d



Use the method of cylindrical shells
to find the volume of the solid
formed by revolving the region
bounded by y = x* and y = Don
the interval —1 < x < 1 about

x=2.

1
V- f 2m(2 - x)x* dx
-1
l "
V= I 2m(x - 2)x* dx
-1
1
V= [ 2nx(2 - x)* dx
-1

1
V= I 2m.2(x*) dx
-1

2 o Ay wilia] dle diind
Bagiaall Al gl O3Sy S pnanal
Pl ey =0 gy =2t dady
x=2Jp-12x21

@Frontline_Students



Let R be the region bounded by sy Bayiall Al A R 53
y = x* and y = 4. What is the ﬂ@iﬁ_‘u’ph.y:‘,y:xz
volume of the solid formed by fx = 2 alieadl Jga R e 00 C5S4

revolving R about the line x = 27

v=L‘u[(4+m’-(4-m']dy

V= [2"“ —x¥)dx
V= f:n[(z + 9 - (@~ ]ay

4
2
V- j n(J5)’ dy
0
Find the area between the curves Oasiadall O §) ganall Aabusall 229l

y=x%+2andy = cosx on the bl Ay =cosx g y=x*+2
interval 0 < x < 2. 0<x<2

20
— —sin2

20
T cos 2

14
— —cos2

14
T sin2

@Frontline_Students
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G po 8yt Jioal) W Dbl alaall J>

@Frontline_Students

The differential equation
y' = xcos?y is separable. Find the

general solution, in an explicit form.

.Juadll ALGE y' = xcos?y Aulialiill Alsteal)

sy B plad) Jall aagl



